APPENDIX D

OFF-LINE HYPOTHESISTEST ON FEATURE
SIGNALS

D.1 sensor no. 1 —change in the mean value feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.2 sensor no. 1 — change in the standard deviation feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.3 sensor no. 1 — change in the M SE feature signd
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Appendix D - Off-line hypothesis test on feature signals

D.4 sensor no. 2 — change in the mean value feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.5 sensor no. 2 —change in the standard deviation feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.6 sensor no. 2 — change in the M SE feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.7 sensor no. 3 —change in the mean value feature signal
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Appendix D - Off-line hypothesis test on feature signals
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D.8 sensor no. 3 — change in the standard deviation feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.9 sensor no. 3 —change in the M SE feature signd
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Appendix D - Off-line hypothesis test on feature signals

D.10 sensor no. 4 — change in the mean value feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.11 sensor no. 4 — change in the standard deviation feature signal

Standard deviation of expi1, sensor 4
T T T T

Standard deviation of exp#2, sensor 4
T T ™ T T T T

0.057 T T
0= 0.052907 0062 0= 0051316 -
0.056 g
50=0.0014121 0= 0.0015061
0.055 u1= 0052342 | 0061 u1= 0058481 |
s1= 00012349 s1= 00015007
0.054 R 0.058| g
\ ratiol = 0.40056 ratiol = 4.7572
0053 ratio2 = 11435 ratio2 = 1.0036
0,056 b
ratio3 = 3.1918 ratio3 = 1316.54
0.052 B
est=[0 0 0] omsal est=[1 0 0]
0.051 crivean=1 | crivean = 1
criDevi = 2 0.052/ cribei=2 |
0.05 B
criBoth = [2 8] criBoth= 28]
0.049 1 oosf 1
0.048 K 0.048 1
. . . . . . . . . . . . . . . .
50 100 150 200 250 300 350 400 450 100 200 300 400 500 600 700
Cycles] Cycles]
Standard deviation of exp#3, sensor 4 Standard deviation of expi4, sensor 4
T T T T T 0.064 T T T T T T T T T T
0.062f g
0= 0058113 0= 005721
0.0611 0= 0.0014359 | 0.062 50=0.0017141.|
0.06} u1=0.056974 - u1= 0.055644
s1= 00014854, s1= 00012553
0.059 N 0.06 g
ratiol = 0.79305 ratio = 0.91381]
0.058 ratio2 = 1.0345 | ratio2 = 1.3654
0.057 ratio3 = 22.987%) 0.058 ratio3 = 3.4145
est=[0 0 0] est=[0 0 0]
0.056 g
crivean = 1 crivean = 1
0,085 B 0.056 1
criDevi = 2 criDevi = 2
0.054| criBoth = (28] | crioth = 28]
0.054 1
0.053[ B
0052 B
0.052 g
. . . . . . . . . . . . . . . .
50 100 150 200 250 300 50 100 150 200 250 300 350 400 450 500
[Cycles] (Cycles]
Standard deviation of exp#, sensor 4
0.06F T T T T T T T T T T —
0= 0056594
0.089 0= 0,0011349 |
u1= 0055409
0.058 N
1= 00012574
0.057 ratio1 = 1.0439 |
raio2 = 1.108
0.056 ratio3 = 9.6635-
est=[1 00
0.055 critean =1
criDevi = 2
0.054| 1
criBoth= (28]
0053 B
0052 B

50 100 150 200 250 300 350 400 450 500 550
[Cycles]

167



Appendix D - Off-line hypothesis test on feature signals

D.12 sensor no. 4 — change in the M SE feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.13 sensor no. 1 — no change in the mean value feature signal

Mean value of exp#1, sensor 1
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Appendix D - Off-line hypothesis test on feature signals

D.14 sensor no. 1 — no change in the standard deviation feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.15 sensor no. 1 — no change in the M SE feature signal

Residual error of exp#1, sensor 1. PCA: N = 50, ¢ = 20
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Appendix D - Off-line hypothesis test on feature signals

D.16 sensor no. 2 —no change in the mean value feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.17 sensor no. 2 — no change in the standard deviation feature signal
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D.18 sensor no. 2 — no change in the M SE feature signal

Appendix D - Off-line hypothesis test on feature signals
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D.19 sensor no. 3 — no change in the mean value feature signal

Appendix D - Off-line hypothesis test on feature signals
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Appendix D - Off-line hypothesis test on feature signals

D.20 sensor no. 3 — no change in the standard deviation feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.21 sensor no. 3 — no change in the M SE feature signal

Residual error of exp#1, sensor 3. PCA: N = 50, ¢ = 20
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Appendix D - Off-line hypothesis test on feature signals

D.22 sensor no. 4 —no change in the mean value feature signal
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Appendix D - Off-line hypothesis test on feature signals

D.23 sensor no. 4 —no change in the standard deviation feature signal
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Appendix D - Off-line hypothesis test on feature signals

Residual error of exp#1, sensor 4. PCA: N =50, ¢ = 20
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D.24 sensor no. 4 —no change in the M SE feature signal

Residual error of exp#2, sensor 4. PCA: N =50, ¢ = 20

o1 7
u0 = 0.046737
01l 0= 0015262
ul=0.049432
0098 s1=0012508 |
ool ratiol = 0.17663|
ratio2 = 1.2201
0.071 ratio3 = 0.97897]
est=[0 0 0]
.06 1
criMean = 1
ool criDev = 2
criBoth = [2 8]
0.04, T
oot 1
. . . . . .
20 0 60 80 100 120
[Cycles]
Residual error of exp#, sensor 4. PCA: N = 50, ¢ = 20
T T T T T T
ok 0= 01003
s0 = 0.040998
ul=0.10622
ool s1=002993 |
ratiol = 0.14211|
raio2 = 1.3807
ratiod = 0.51538)
0.151 T
est=[0 0 0]
criMean = 1
criDev = 2
0.1f 7
criBoth = [2 8]
005 1
. , . . . .

20 40 60 80 100
[Cycles]



